The 10th Shandong Provincial Collegiate Programming Contest 2019/05/12

Problem F. Stones in the Bucket

There are n buckets on the ground, where the i-th bucket contains a; stones. Each time one can perform
one of the following two operations:

e Remove a stone from one of the non-empty buckets.

e Move a stone from one of the buckets (must be non-empty) to any other bucket (can be empty).

What’s the minimum number of times one needs to perform the operations to make all the buckets contain
the same number of stones?

Input

There are multiple test cases. The first line of the input contains an integer 7', indicating the number of
test cases. For each test case:

The first line contains an integer n (1 < n < 10°), indicating the number of buckets.

The second line contains n integers ag, as, .. .,a, (0 < a; < 10%), indicating the number of stones in the
buckets.

It’s guaranteed that the sum of n of all test cases will not exceed 10°.
Output

For each test case output one line containing one integer, indicating the minimum number of times needed
to make all the buckets contain the same number of stones.

Example

standard input standard output
4 2
3 0
110 3
4 0
2222
3
014
1
1000000000
Note

For the first sample test case, one can remove all the stones in the first two buckets.

For the second sample test case, as all the buckets have already contained the same number of stones, no
operation is needed.

For the third sample test case, one can move 1 stone from the 3rd bucket to the 1st bucket and then
remove 2 stones from the 3rd bucket.
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